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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)

(iv)

(v)

(vi)

.59/6/1

This question paper contains 13 questions. All questions are compulsory.
This question paper consists of three Sections — Section A, B, and C.

Section A has 8 questions (Questions no. 1 to 8) of 2 marks each. Answers to
these questions should be completed within 50 words each.

Section B has 3 questions (Questions no. 9 to 11) of 4 marks each. Answers to
these questions should be completed within 100 words each. Answers of MAP
question should be attempted accordingly.

Section C has 2 questions (Questions no. 12 and 13) of 6 marks each. Answers

to these questions should be completed within 170 words each.

There is no overall choice in the question paper. However, an internal choice
has been provided in some questions. Only one of the choices in such questions

have to be attempted.

SECTION A

(a) In what way do the coalition governments prove to be more

democratic than the one-party governments ? 2
OR
(b)  Highlight the names of any four Prime Ministers of India who have
led the coalition governments. 4x é =2
Explain any two features of BAMCEF. 2x1=2

Examine any two reasons for the defeat of the Congress Party in the
State Assembly elections of 1967. 2x1=2

Explain the term “Congress Syndicate”. 2

Describe any two changes made in the methods of voting in India since

Independence. 2x1=2

3 P.T.O.
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2141 Fdl % TS hl T HewdQUl IWLA! B3 ofRerh Wfh & &Y H T H
et feregl g1 &1 1 Ioor@ HIRT | 2x1=2

WA 37 ATA<Ha & o= gra-al skl foheal @ famiarsti st wase hifvg | 2x1=2

JTATRIUT o HNU WA U IqsY W Yl § AT IR o hIs IR e

fefEm | 4><é=2
Qs @

JedteRtT & 3ga W o Rmer fhedl g SRenl &I UgEH SR e

T | 2x2=4

ficTeRT o ST ToN o fohedl gl J&J HRUN I IATR HIT | Ix2=4

qRA < feu U THifas W@-AFERT (788 5 W) § IR TG w6l @), @), ©
qar D) g Afeha fopam T 8 | T & T8 A o STMUR W3 UsAl hi
UgeM hIforT 3 vt IT-YFEaeht B 3k T@ AW, YA Sl TS AR H
HU-TGEAT a1 AHfaT H fea e wefud o1gR, fefaRegd IEY % ITER
ferfae

TN <hl 8 THhRY | AFERES |
1 -G qafed 3T&R

1)
(i)

(iii)

sy bl 4H

(iv)

(i) 98 TS gl 9go 9T 91l A 3ol ggell JehR o |
(i) I8 UST &l ¥ oh. HEUS gaied o |

(i) YR 99 1 T heentad & (T TI-&7) |
(iv) 98 UST S8l ¥ WA a1 91l 3 10 I 37 <6l off | 4x1=4
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State any two strengths that make the 215t century Israel an important

emerging global power. 2x1=2

Explain any two features of the relationship between India and

Maldives. 2x1=2

Write any four examples of change in food items available in India due to

globalisation. 4x é =2
SECTION B

Identify and explain any two factors responsible for the emergence of

globalisation. 2x2=4

Highlight any two main causes of ethnic conflicts of Sri Lanka. 2x2=4

On the given political outline map of India (on page 7), four States have
been marked as @), @), (©) and D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information

used and the concerned alphabets given in the map as per the following

format :
Serial number of the | Concerned alphabet Name of the
information used in the map State

@)
(ii)
(iii)
(iv)

(1) The State where Bahujan Samaj Party formed its first government.

(ii)  The State to which K. Kamaraj belonged.
(iii) The latest Union Territory of the Indian Union.

(iv) The State from where Bharatiya Janata Party began its Rath
Yatra. 4x1=4
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FHETfTiEgad v @ac giEanaa ghenmdal & fog 397 q&ar 11 (FrAET

57) & TIH T E :

1975 U SATITdhRIA <hl 90N ¥ UgA hidd THR & fabg Jesial & fou

e foregl 2t shenl o1 fageryor e | I%x2=4

Qs 1

U 9 o 3 YHTEEIEl & e 8 W fow ITReR fhdl i
! H1 foreeiwor HT | 3x2=6

AYAT

T AMUS T b I H AAE (ASEAN) hl fHeh1 I TheH
T | 6

1970 & T 6l fohal a9 "eqreli ol IR HIfiT St 9Rd § <he

TR I AIITTRT o6 o=l Zohrd k1 ShIUT S | 3x2=6
HAIAT
1975 | =Nf¥d STUTdehId § G T hig o9 e ISR hIoT | 3x2=6
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The following question is for the Visually Impaired Candidates

only, in lieu of Q. No. 11 (map question) :

Analyse any two factors that led to the protests against the Congress

Government before the declaration of Emergency in 1975. 2x2=4

SECTION C

(a)  Analyse any three factors responsible for the European Union to be

a highly influential regional organization. 3x2=6

OR

(b) Assess the role of ASEAN as an economic association.

(a)  Highlight any three developments of 1970s which were the cause

of confrontation between the Union Government and the Judiciary

in India. 3x2=6

OR

(b)  Highlight any three lessons learnt from the Emergency imposed in

1975. 3Ix2=6




